This report contains the transfers results.

Contest Name

Ward 1 - Troon

Valid Votes
6,979

Positions to be Filled
Quota
1,396

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|----------------|------------------------------------|----------------------|
| Kenneth BELL | Scottish Conservative and Unionist | 1,015 |
| Judith GODDEN | Scottish Liberal Democrats | 329 |
| Rose HALL | Scottish Conservative and Unionist | 459 |
| Linda LUNAN | Independent | 198 |
| Craig MACKAY | Scottish National Party (SNP) | 1,607 |
| Annie McINDOE | Scottish National Party (SNP) | 898 |
| Bob POLLOCK | Scottish Conservative and Unionist | 1,131 |
| Philip SAXTON | Scottish Labour Party | 1,342 |
| | Total | 6,979 |

Candidate Craig MACKAY Elected with 1,607 votes, being in excess of the quota of 1,396

This report contains the transfers results.

Stage 2 - Surplus of Craig MACKAY

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Kenneth BELL | 10 | 0.13130 | 1.31300 |
| Transfer to Judith GODDEN | 31 | 0.13130 | 4.07030 |
| Transfer to Linda LUNAN | 16 | 0.13130 | 2.10080 |
| Transfer to Annie McINDOE | 1,390 | 0.13130 | 182.50700 |
| Transfer to Bob POLLOCK | 24 | 0.13130 | 3.15120 |
| Transfer to Philip SAXTON | 83 | 0.13130 | 10.89790 |
| | | | |
| No further preference | 48 | 0.13130 | 6.30240 |
| Not transferred due to rounding | | | 0.00090 |
| | Total | | 211.00000 |

This report contains the transfers results.

Stage 3 - Exclusion of Linda LUNAN

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Kenneth BELL | 13 | 1.00000 | 13.00000 |
| Transfer to Judith GODDEN | 40 | 1.00000 | 40.00000 |
| Transfer to Rose HALL | 7 | 1.00000 | 7.00000 |
| Transfer to Annie McINDOE | 39 | 1.00000 | 39.00000 |
| Transfer to Bob POLLOCK | 12 | 1.00000 | 12.00000 |
| Transfer to Philip SAXTON | 52 | 1.00000 | 52.00000 |
| Transfer to Judith GODDEN | 4 | 0.13130 | 0.52520 |
| Transfer to Annie McINDOE | 7 | 0.13130 | 0.91910 |
| Transfer to Philip SAXTON | 4 | 0.13130 | 0.52520 |
| | | | |
| No further preference | 35 | 1.00000 | 35.00000 |
| No further preference | 1 | 0.13130 | 0.13130 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 200.10080 |

This report contains the transfers results.

Stage 4 - Surplus of Philip SAXTON

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Judith GODDEN | 381 | 0.00670 | 2.55270 |
| Transfer to Annie McINDOE | 236 | 0.00670 | 1.58120 |
| Transfer to Bob POLLOCK | 224 | 0.00670 | 1.50080 |
| Transfer to Judith GODDEN | 14 | 0.00088 | 0.01232 |
| Transfer to Annie McINDOE | 42 | 0.00088 | 0.03696 |
| Transfer to Bob POLLOCK | 7 | 0.00088 | 0.00616 |
| | | | |
| No further preference | 448 | 0.00670 | 3.00160 |
| No further preference | 23 | 0.00088 | 0.02024 |
| Not transferred due to rounding | | | 0.00674 |
| | Total | | 9.42310 |

This report contains the transfers results.

Stage 5 - Exclusion of Judith GODDEN

376.16052

| - Clayer - Excludion of Caalin Cobbet | | | 070:10002 |
|---------------------------------------|-------------------------|----------------|-------------------|
| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
| Transfer to Kenneth BELL | 44 | 1.00000 | 44.00000 |
| Transfer to Rose HALL | 29 | 1.00000 | 29.00000 |
| Transfer to Annie McINDOE | 60 | 1.00000 | 60.00000 |
| Transfer to Bob POLLOCK | 62 | 1.00000 | 62.00000 |
| Transfer to Kenneth BELL | 1 | 0.13130 | 0.13130 |
| Transfer to Rose HALL | 2 | 0.13130 | 0.26260 |
| Transfer to Annie McINDOE | 13 | 0.13130 | 1.70690 |
| Transfer to Kenneth BELL | 27 | 0.00670 | 0.18090 |
| Transfer to Rose HALL | 16 | 0.00670 | 0.10720 |
| Transfer to Annie McINDOE | 53 | 0.00670 | 0.35510 |
| Transfer to Bob POLLOCK | 30 | 0.00670 | 0.20100 |
| Transfer to Kenneth BELL | 1 | 0.00088 | 0.00088 |
| Transfer to Annie McINDOE | 4 | 0.00088 | 0.00352 |
| | | | |
| No further preference | 174 | 1.00000 | 174.00000 |
| No further preference | 19 | 0.13130 | 2.49470 |
| No further preference | 255 | 0.00670 | 1.70850 |
| No further preference | 9 | 0.00088 | 0.00792 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 376.16052 |

Report Name: Transfers_V0001_Ward-1---Troon_06052022_142600.pdf Created: 06-5-2022 14:26:00

This report contains the transfers results.

Stage 6 - Exclusion of Rose HALL

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Kenneth BELL | 201 | 1.00000 | 201.00000 |
| Transfer to Annie McINDOE | 8 | 1.00000 | 8.00000 |
| Transfer to Bob POLLOCK | 254 | 1.00000 | 254.00000 |
| Transfer to Annie McINDOE | 3 | 0.13130 | 0.39390 |
| Transfer to Kenneth BELL | 19 | 0.00670 | 0.12730 |
| Transfer to Annie McINDOE | 2 | 0.00670 | 0.01340 |
| Transfer to Bob POLLOCK | 12 | 0.00670 | 0.08040 |
| | | | |
| No further preference | 32 | 1.00000 | 32.00000 |
| No further preference | 4 | 0.13130 | 0.52520 |
| No further preference | 18 | 0.00670 | 0.12060 |
| No further preference | 1 | 0.00088 | 0.00088 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 496.26168 |

This report contains the transfers results.

Stage 7 - Surplus of Bob POLLOCK

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Kenneth BELL | 1,289 | 0.04640 | 59.80960 |
| Transfer to Annie McINDOE | 24 | 0.04640 | 1.11360 |
| Transfer to Kenneth BELL | 3 | 0.00609 | 0.01827 |
| Transfer to Annie McINDOE | 5 | 0.00609 | 0.03045 |
| Transfer to Kenneth BELL | 144 | 0.00031 | 0.04464 |
| Transfer to Annie McINDOE | 12 | 0.00031 | 0.00372 |
| Transfer to Kenneth BELL | 2 | 0.00004 | 0.00008 |
| Transfer to Annie McINDOE | 1 | 0.00004 | 0.00004 |
| | | | |
| No further preference | 146 | 0.04640 | 6.77440 |
| No further preference | 16 | 0.00609 | 0.09744 |
| No further preference | 110 | 0.00031 | 0.03410 |
| No further preference | 4 | 0.00004 | 0.00016 |
| Not transferred due to rounding | | | 0.01306 |
| | Total | | 67.93956 |

This report contains the transfers results.

Stage 8 - Exclusion of Annie McINDOE

1,193.66489

| 3 | | | |
|---------------------------------|-------------------------|----------------|-------------------|
| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
| Transfer to Kenneth BELL | 138 | 1.00000 | 138.00000 |
| Transfer to Kenneth BELL | 179 | 0.13130 | 23.50270 |
| Transfer to Kenneth BELL | 9 | 0.04640 | 0.41760 |
| Transfer to Kenneth BELL | 48 | 0.00670 | 0.32160 |
| Transfer to Kenneth BELL | 4 | 0.00088 | 0.00352 |
| Transfer to Kenneth BELL | 4 | 0.00031 | 0.00124 |
| Transfer to Kenneth BELL | 1 | 0.00004 | 0.00004 |
| | | | |
| No further preference | 867 | 1.00000 | 867.00000 |
| No further preference | 1,234 | 0.13130 | 162.02420 |
| No further preference | 15 | 0.04640 | 0.69600 |
| No further preference | 243 | 0.00670 | 1.62810 |
| No further preference | 5 | 0.00609 | 0.03045 |
| No further preference | 42 | 0.00088 | 0.03696 |
| No further preference | 8 | 0.00031 | 0.00248 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 1,193.66489 |

Report Name: Transfers_V0001_Ward-1---Troon_06052022_142600.pdf Created: 06-5-2022 14:26:00